
Answer 8 

1. Explanation of the correct answer (D: The value is incorrect because the
student should subtract the reading for end Y from the reading for end X)
Step 1: Identify the ruler readings for both ends of the rod. 
The reading for end X (right end) is 94.8 cm. 
The reading for end Y (left end) is 99.7 cm. 

Step 2: Calculate the correct length of the rod. 
To determine the correct length, the student should subtract the left reading from the right 
reading: 
99.7 cm - 94.8 cm = 4.9 cm 

The student incorrectly recorded the length as 94.8 cm, which is actually the starting 
position rather than the length of the rod. 
Therefore, the correct statement is that the student should subtract the readings, making 
option D the correct choice. 
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